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1.(Fig. 1) The switch has been closed for a Jong time and is opened at /=0. Find the
voltage v(¢) for 20. - 20%
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2 (Fig. 2) The sw1tch has been open for a long time and is closed at =0.
(a) Find the 1nductor current iL(t) for £0.
(b) Find the capacitor voltage ve(r) and current through the switch isw(?) for >0.
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3. (Fxg 3) If all vanables in the network have reached the steady state, find vg(t)
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4, (Flg 4) Swﬂch S1 has been closed for a log time and is opened at =0. Use Laplace
transfonn method to ﬁnd vz(t) for z‘>0 25%
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